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QUESTION 1

There are two terminals, T1 and T2, both registered to the same GK. When T1 calls T2 by number, what is wrong with
the following statement? () Multiple choice

A. The ACF message received by T1 contains the GK call signaling channel transmission address
B. The ACF message received by T1 contains the call signaling channel transmission address of T2
C. After T2 receives the Setup message, it sends an ARQ message to GK

D. After T2 receives the Setup message, it sends an ARQ message to T1

Correct Answer: AD

QUESTION 2

The POTS user number in the U1900 system is bound to the analog port, and has nothing to do with the analog phone
connected to the analog port () Correct or Wrong

A. Correct
B. Wrong

Correct Answer: A

QUESTION 3

In the U1900+SC solution, eSpace 8950 is used to call the conference access number of the video conference system.
When the conference list page appears on the phone screen, which statement is correct ()

A. You can select the conference B you want to join through the touch screen of the 8950 phone.

B. You can use the arrow keys on the 8950 phone to select the conference you want to join

C. The number key 2468 of the 8950 phone can be used to select the conference to join

D. You can use the microphone of the 8950 phone to select the conference you want to join by voice.

Correct Answer: C

QUESTION 4

In the videoconferencing system, the MCU and T1 and T2 are deployed on the private network, and T3 is deployed on
the public network. The MCU is used for wall-mounted networking. The following statement is wrong () (single choice)

A. The GEO port of the MCU is registered with GK, and the GE1 port is only used for IP address call

B. Connect T2 to the network on the same network segment as the GEO port of the MCU
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C. Connect T3 to the network on the same network segment as the GE1 port of the MCU
D. The MCU\\'s GEO port and GEL1 port can be connected to the same network segment

Correct Answer: D

QUESTION 5

The standard auxiliary stream token management protocol recommended by the SIP protocol is () (single choice)
A. H.239

B. INFO

C. BFCP

D. H.245

Correct Answer: C
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